

AN ALGEBRAIC STRUCTURE OF ZERO CURVATURE REPRESENTATIONS ASSOCIATED WITH COUPLED INTEGRABLE COUPLINGS AND APPLICATIONS TO τ -SYMMETRY ALGEBRAS

LIN LUO^{*,§}, WEN-XIU MA^{†,¶} and ENGUI FAN^{‡,||}

^{*}*Department of Mathematics, Shanghai Second Polytechnic University,
 Shanghai 201209, P. R. China*

[†]*Department of Mathematics and Statistics, University of South Florida,
 Tampa, FL 33620-5700, USA*

[‡]*School of Mathematical Sciences, Fudan University,
 Shanghai 200433, P. R. China*

[§]*luolinmath@yahoo.cn*

[¶]*mawx@cas.usf.edu*

^{||}*faneg@fudan.edu.cn*

Received 20 May 2009

We establish an algebraic structure for zero curvature representations of coupled integrable couplings. The adopted zero curvature representations are associated with Lie algebras possessing two sub-Lie algebras in form of semi-direct sums of Lie algebras. By applying the presented algebraic structures to the AKNS systems, we give an approach for generating τ -symmetry algebras of coupled integrable couplings.

Keywords: Zero curvature representation; coupled integrable couplings; τ -symmetry algebra.

PACS numbers: 02.30.Ik, 05.45.Yv

1. Introduction

It is well-known that there is a close connection between the integrability properties of differential equations and their infinitely many symmetries. An extensive literature on this subject already exists, including continuous and discrete nonlinear equations.^{1–21} Moreover, these symmetries form nice and interesting algebraic structures, such as: Virasoro algebras,^{13,14} $W_{1+\infty}$ algebras,^{20,21} master symmetry algebras^{1,2} and so on.

In recent years, there has been an increasing interest in the theories of integrable couplings on the basis of the concept of semidirect sums of Lie algebras,^{23–25} in particular, loop algebras.^{26–28} Ones have constructed plenty of examples of both continuous and discrete integrable couplings for given classes of integrable equations.^{22–29} The corresponding results show various mathematical structures that

integrable equations possess, such as Lax representations, infinitely many symmetries, conserved quantities and bi-Hamiltonian structures, and also provide powerful tools to analyze integrable equations.

Very recently, Ma and Gao³¹ put forward a new result on generating integrable couplings by coupled integrable couplings. Such new integrable couplings are associated with Lie algebras possessing two sub-Lie algebras in the form of semidirect sums of Lie algebras, and infinitely many commuting symmetries and recursion operators are presented for such coupled integrable couplings by Ma and Gao.³¹ In this paper, we are concerned with an algebraic structure of zero curvature representations of the coupled integrable couplings and apply such a structure to the coupled integrable couplings of the AKNS systems to obtain their τ -symmetry algebras.

This paper is organized as follows. In Sec. 2, we briefly introduce coupled integrable couplings. In Sec. 3, we compute the Lie algebra of the corresponding enlarged vector fields under the enlarged commutator, and further, establish an algebraic structure of zero curvature representations associated with coupled integrable coupling systems. Finally, we apply such a structure to the coupled integrable couplings of the AKNS systems to propose an approach for generating τ -symmetry algebras of coupled integrable couplings.

2. Coupled Integrable Coupling Systems

Let us consider an integrable evolution equation

$$u_t = K = K(u) = K(x, t, u, u_x, u_{xx}, \dots), \quad (2.1)$$

where $x, t \in \mathbb{R}$ and $u = (u_1, u_2, \dots, u_q)^T$ is a potential vector. Assume that it has a zero curvature representation

$$U_t - V_x + [U, V] = 0, \quad (2.2)$$

where the Lax matrices U and V belong to a matrix loop algebra g . This means that a triple (U, V, K) satisfies

$$U'(u)[K] + f(\lambda)U_\lambda - V_x + [U, V] = 0, \quad (2.3)$$

where $\lambda_t = f(\lambda) \in C^\infty(\mathbb{C})$, $U_\lambda = \partial U / \partial \lambda$ and $U'(u)[K] = \partial / \partial \epsilon|_{\epsilon=0} U(u + \epsilon K)$.

Now let us assume Eq. (2.1) has two integrable couplings

$$\bar{u}_{1,t} = \bar{K}_1(\bar{u}_1) = \begin{pmatrix} K \\ K_1 \end{pmatrix}, \quad (2.4)$$

and

$$\bar{u}_{2,t} = \bar{K}_2(\bar{u}_2) = \begin{pmatrix} K \\ K_2 \end{pmatrix}, \quad (2.5)$$

and their corresponding zero curvature representations read as

$$\bar{U}'_i(\bar{u}_i)[\bar{K}_i] + f(\lambda)\bar{U}_{i\lambda} - \bar{V}_{ix} + [\bar{U}_i, \bar{V}_i] = 0, \quad (2.6)$$

with the Lax pairs being given by

$$\begin{aligned}\bar{U}_i &= \bar{U}_i(\bar{u}_i) = \begin{pmatrix} U(u) & U_i(\bar{u}_i) \\ 0 & U(u) \end{pmatrix}, \\ \bar{V}_i &= \bar{V}_i(\bar{u}_i) = \begin{pmatrix} V(u) & V_i(\bar{u}_i) \\ 0 & V(u) \end{pmatrix},\end{aligned}\tag{2.7}$$

where $i = 1, 2$ and $\bar{u}_1 = (u^T, v^T)^T$, $\bar{u}_2 = (u^T, w^T)^T$, $v = (v_1, v_2, \dots, v_{q_1})^T$, $w = (w_1, w_2, \dots, w_{q_2})^T$.

The algebraic structures for zero curvature representations (2.3) and (2.6) were discussed systematically in Refs. 13, 14 and 29.

To generate coupled integrable couplings of (2.4) and (2.5) as

$$\hat{u}_t = \hat{K}(\hat{u}) = \begin{pmatrix} K \\ K_1 \\ K_2 \end{pmatrix}, \quad \hat{u}_t = \begin{pmatrix} u \\ v \\ w \end{pmatrix},\tag{2.8}$$

let us now form a matrix Lie algebra $\hat{g}$ consisting of square matrices of the following block form as introduced in Ref. 31:

$$\hat{P} = \begin{pmatrix} P & 0 & P_1 \\ 0 & P & P_2 \\ 0 & 0 & P \end{pmatrix},\tag{2.9}$$

where P, P_1, P_2 are the same size square submatrices as U and V . This Lie algebra $\hat{g}$ has two sub-Lie algebras

$$\bar{g}_1 = \{\hat{P}|P_2 = 0\}, \quad \bar{g}_2 = \{\hat{P}|P_1 = 0\},\tag{2.10}$$

which can be written as semidirect sums of sub-Lie algebras

$$\bar{g}_1 = \bar{g}_1|_{P_1=0} \oplus \bar{g}_1|_{P=0}, \quad \bar{g}_2 = \bar{g}_2|_{P_2=0} \oplus \bar{g}_2|_{P=0},\tag{2.11}$$

and thus, the Lie algebra $\hat{g}$ is nonsemisimple.

So, the coupled integrable couplings (2.8) are determined by the following enlarged zero curvature representation

$$\hat{U}_t - \hat{V}_x + [\hat{U}, \hat{V}] = 0,\tag{2.12}$$

where

$$\hat{U} = \begin{pmatrix} U & 0 & U_1 \\ 0 & U & U_2 \\ 0 & 0 & U \end{pmatrix}, \quad \hat{V} = \begin{pmatrix} V & 0 & V_1 \\ 0 & V & V_2 \\ 0 & 0 & V \end{pmatrix}.\tag{2.13}$$

This implies that an enlarged triple $(\hat{U}, \hat{V}, \hat{K})$ satisfies

$$\hat{U}'(\hat{u})[\hat{K}] + f(\lambda)\hat{U}_\lambda - \hat{V}_x + [\hat{U}, \hat{V}] = 0, \quad \lambda_t = f(\lambda),\tag{2.14}$$

with

$$\begin{aligned}\hat{U}'(\hat{u})[\hat{K}] &= \begin{pmatrix} \left.\frac{\partial}{\partial \epsilon}U(u+\epsilon K)\right|_{\epsilon=0} & 0 & \left.\frac{\partial}{\partial \epsilon}U_1(v+\epsilon K_1)\right|_{\epsilon=0} \\ 0 & \left.\frac{\partial}{\partial \epsilon}U(u+\epsilon K)\right|_{\epsilon=0} & \left.\frac{\partial}{\partial \epsilon}U_2(w+\epsilon K_2)\right|_{\epsilon=0} \\ 0 & 0 & \left.\frac{\partial}{\partial \epsilon}U(u+\epsilon K)\right|_{\epsilon=0} \end{pmatrix} \\ &= \begin{pmatrix} U'(u)[K] & 0 & U'_1(v)[K_1] \\ 0 & U'(u)[K] & U'_2(w)[K_2] \\ 0 & 0 & U'(u)[K] \end{pmatrix},\end{aligned}$$

which precisely presents

$$\begin{cases} U'(u)[K] + f(\lambda)U_\lambda - V_x + [U, V] = 0, \\ U'_1(v)[K_1] + f(\lambda)U_{1\lambda} - V_{1x} + [U, V_1] + [U_1, V] = 0, \\ U'_2(w)[K_2] + f(\lambda)U_{2\lambda} - V_{2x} + [U, V_2] + [U_2, V] = 0. \end{cases} \tag{2.15}$$

3. Algebraic Structure of Zero Curvature Representation for Coupled Integrable Couplings

In this section, we aim to discuss the algebraic structure of zero curvature representations for coupled integrable coupling systems (2.8), i.e. the enlarged triple $(\hat{U}, \hat{V}, \hat{K})$ satisfying (2.14).

For the sake of convenience, let us first fix the notation as in Refs. 13 and 29. We denote by $\mathcal{B}$ all complex (or real) functions $P = P(x, t, u, v, w)$ which are C^∞ -differentiable with respect to x, t and C^∞ -Gateaux differentiable with respect to u, v and w , and set $\mathcal{B}^r = \{(P_1, \dots, P_r)^T | P_i \in \mathcal{B}\}$. Moreover, by $\mathcal{V}^r$, we denote all $r \times r$ matrix integrable-differential operators:

$$\mathcal{V}^r = \{(\Phi_{ij})_{r \times r} | \Phi_{ij} = \Phi_{ij}(x, t, u, v, w)\text{-integro-differential operators, } 1 \leq i, j \leq r\},$$

and by $\mathcal{V}_{(0)}^r$, we denote all following $r \times r$ matrices:

$$\mathcal{V}_{(0)}^r = \{(P_{ij})_{r \times r} | P_{ij} = P_{ij}(x, t, u, v, w) \in \mathcal{B}, \ 1 \leq i, j \leq r\}.$$

Define

$$\tilde{\mathcal{V}}^r = \mathcal{V}^r \otimes [\lambda, \lambda^{-1}], \quad \tilde{\mathcal{V}}_{(0)}^r = \mathcal{V}_{(0)}^r \otimes [\lambda, \lambda^{-1}].$$

We now set

$$\hat{K} = \begin{pmatrix} K \\ K_1 \\ K_2 \end{pmatrix}, \quad \hat{S} = \begin{pmatrix} S \\ S_1 \\ S_2 \end{pmatrix} \in \mathcal{B}^{q+q_1+q_2}, \tag{3.1}$$

where $K, S \in \mathcal{B}^q$, $K_1, S_1 \in \mathcal{B}^{q_1}$ and $K_2, S_2 \in \mathcal{B}^{q_2}$. The Gateaux derivative is defined as follows:

$$R'[\hat{K}] = \frac{\partial}{\partial \epsilon} R(u + \epsilon K, v + \epsilon K_1, w + \epsilon K_2) \Big|_{\epsilon=0}, \quad R \in \tilde{\mathcal{V}}^r \text{ or } \mathcal{B}^r, \quad (3.2)$$

and in particular, we have

$$K'_1[\hat{S}] = K'_1[S] + K'_1[S_1], \quad S'_1[\hat{K}] = S'_1[K] + S'_1[K_1], \quad (3.3)$$

$$K'_2[\hat{S}] = K'_2[S] + K'_2[S_2], \quad S'_2[\hat{K}] = S'_2[K] + S'_2[K_2], \quad (3.4)$$

By a direct computation, we have the following result:

Theorem 3.1. *Let $\Phi(u, v, \lambda) \in \tilde{\mathcal{V}}^r$ and $\hat{K}, \hat{S} \in \mathcal{B}^{q+q_1+q_2}$. Then we have*

$$\begin{aligned} & (\Phi'[\hat{K}])'[\hat{S}] - (\Phi'[\hat{S}])'[\hat{K}] \\ &= \Phi'(u)[K'[S] - S'[K]] + \Phi'(v)[K'_1[S] - S'_1[K] + K'_1[S_1] - S'_1[K_1]] \\ &+ \Phi'(w)[K'_2[S] - S'_2[K] + K'_2[S_2] - S'_2[K_2]]. \end{aligned} \quad (3.5)$$

Thus, for $U_1 = U_1(v, \lambda)$, $U_2 = U_2(w, \lambda) \in \tilde{\mathcal{V}}^r_{(0)}$, we can obtain

$$(U'_1[K_1])'[\hat{S}] - (U'_1[S_1])'[\hat{K}] = U'_1[K'_1[S] - S'_1[K] + K'_1[S_1] - S'_1[K_1]], \quad (3.6)$$

and

$$(U'_2[K_2])'[\hat{S}] - (U'_2[S_2])'[\hat{K}] = U'_2[K'_2[S] - S'_2[K] + K'_2[S_2] - S'_2[K_2]]. \quad (3.7)$$

Here we have noted that $U_1 = U_1(v, \lambda)$ and $U_2 = U_2(w, \lambda)$ have nothing to do with the original potential vector u . Evidently, we can also compute the commutator of two enlarged vector fields $\bar{K}, \bar{S} \in \mathcal{B}^{q+q_1+q_2}$ as follows:

$$[\hat{K}, \hat{S}] \triangleq \hat{K}'[\hat{S}] - \hat{S}'[\hat{K}] = \begin{pmatrix} [K, S] \\ [K, S]_1 \\ [K, S]_2 \end{pmatrix}, \quad (3.8)$$

where

$$\begin{aligned} [K, S] &= K'[S] - S'[K], \\ [K, S]_1 &= K'_1[S] - S'_1[K] + K'_1[S_1] - S'_1[K_1], \\ [K, S]_2 &= K'_2[S] - S'_2[K] + K'_2[S_2] - S'_2[K_2]. \end{aligned}$$

which implies (3.8) defines a Lie algebra structure over vector fields in $\mathcal{B}^{q+q_1+q_2}$.

The commutator of two smooth functions $f, g \in C^\infty(\mathbb{C})$ (as vector fields over $\mathbb{C}$) is defined as

$$[f, g](\lambda) = f'(\lambda)g(\lambda) - f(\lambda)g'(\lambda), \quad \lambda \in \mathbb{C}, \quad (3.9)$$

which defines a Lie algebra structure over $C^\infty(\mathbb{C})$. In what follows, we always assume that the enlarged spectral operator $\hat{U} \in \tilde{\mathcal{V}}_{(0)}^{3r}$ has an injective Gateaux derivative operator $\hat{U}' : \mathcal{B}^{q+q_1+q_2} \rightarrow \tilde{\mathcal{V}}_{(0)}^{3r}$.

We further assume that $P(\hat{U})$ denotes all triple $(\hat{V}, \hat{K}, f) \in \tilde{\mathcal{V}}_{(0)}^{3r} \times \mathcal{B}^{q+q_1+q_2} \times C^\infty(\mathbb{C})$ satisfying Eq. (2.14), and for $f(\lambda) \in C^\infty(\mathbb{C})$, we set

$$M(\hat{U}, f) = \{\hat{V} \in \tilde{\mathcal{V}}_{(0)}^{3r} | \exists \hat{K} \in \mathcal{B}^{q+q_1+q_2} \text{ so that } (\hat{V}, \hat{K}, f) \in P(\hat{U})\}, \quad (3.10)$$

$$EM(\hat{U}, f) = \{\hat{K} \in \mathcal{B}^{q+q_1+q_2} | \exists \hat{V} \in M(\hat{U}, f) \text{ so that } (\hat{V}, \hat{K}, f) \in P(\hat{U})\}. \quad (3.11)$$

For $(\hat{V}, \hat{K}, f), (\hat{W}, \hat{S}, g) \in P(\hat{U})$, the product $[[\hat{V}, \hat{W}]] \in \tilde{\mathcal{V}}_{(0)}^{3r}$ can be computed as follows (see Ref. 13):

$$\begin{aligned} [[\hat{V}, \hat{W}]] &= \hat{V}'[\hat{S}] - \hat{W}'[\hat{K}] + [\hat{V}, \hat{W}] + g\hat{V}_\lambda - f\hat{W}_\lambda \\ &= \begin{pmatrix} [[V, W]] & 0 & [V_1, W_1] \\ 0 & [[V, W]] & [V_2, W_2] \\ 0 & 0 & [[V, W]] \end{pmatrix}, \end{aligned} \quad (3.12)$$

where

$$\begin{aligned} [[V, W]] &= V'[S] - W'[K] + [V, W] + gV_\lambda - fW_\lambda, \\ [[V_1, W_1]] &= V'_1[\hat{S}] - W'_1[\hat{K}] + [V, W_1] + [V_1, W] + gV_{1\lambda} - fW_{1\lambda}, \\ [[V_2, W_2]] &= V'_2[\hat{S}] - W'_2[\hat{K}] + [V, W_2] + [V_2, W] + gV_{2\lambda} - fW_{2\lambda}. \end{aligned} \quad (3.13)$$

This shows a special structure of the commutator of enlarged Lax operators and play a crucial role in our following computation.

Theorem 3.2. *Let $(\hat{V}, \hat{K}, f), (\hat{W}, \hat{S}, g) \in P(\hat{U})$. Then $([[\hat{V}, \hat{W}]], [\bar{K}, \hat{S}], [f, g])$ belongs to $P(\hat{U})$, too. That is to say*

$$\hat{U}'[[\hat{K}, \hat{S}]] + [[f, g](\lambda)\hat{U}_\lambda - [[\hat{V}, \hat{W}]]_x + [\hat{U}, [[\hat{V}, \hat{W}]]] = 0, \quad (3.14)$$

which is equivalent to the following three equations:

$$\begin{aligned} U'[[K, S]] + [[f, g](\lambda)U_\lambda - [V, W]]_x + [U, [V, W]] &= 0, \\ U'_1[[K, S]_1] + [[f, g](\lambda)U_{1\lambda} - [V_1, W_1]]_x + [U, [V_1, W_1]] + [U_1, [V, W]] &= 0, \\ U'_2[[K, S]_2] + [[f, g](\lambda)U_{2\lambda} - [V_2, W_2]]_x + [U, [V_2, W_2]] + [U_2, [V, W]] &= 0. \end{aligned} \quad (3.15)$$

Proof. Since $(\hat{V}, \hat{K}, f), (\hat{W}, \hat{S}, g) \in P(\hat{U})$, we have

$$\begin{aligned} V'_x[S] &= (U'[K])'[S] + fU'_\lambda[S] + [U, V]'[S], \\ W'_x[K] &= (U'[S])'[K] + gU'_\lambda[K] + [U, W]'[K], \\ U'_\lambda[K] &= V_{x\lambda} - [U, V]_\lambda - f_\lambda U_\lambda - fU_{\lambda\lambda}, \\ U'_\lambda[S] &= W_{x\lambda} - [U, W]_\lambda - g_\lambda U_\lambda - gU_{\lambda\lambda}; \end{aligned} \quad (3.16)$$

$$\begin{aligned}
 V'_{1x}[\hat{S}] &= (U'_1[K_1])'[\hat{S}] + fU'_{1\lambda}[\hat{S}] + [U, V_1]'[\hat{S}] + [U_1, V]'[\hat{S}], \\
 W'_{1x}[\hat{K}] &= (U'_1[S_1])'[\hat{K}] + gU'_{1\lambda}[\hat{K}] + [U, W_1]'[\hat{K}] + [U_1, W]'[\hat{K}], \\
 U'_{1\lambda}[\hat{K}] &= V_{1x\lambda} - [U, V_1]_\lambda - [U_1, V]_\lambda - f_\lambda U_{1\lambda} - fU_{1\lambda\lambda}, \\
 U'_{1\lambda}[\hat{S}] &= W_{1x\lambda} - [U, W_1]_\lambda - [U_1, W]_\lambda - g_\lambda U_{1\lambda} - gU_{1\lambda\lambda};
 \end{aligned} \tag{3.17}$$

and

$$\begin{aligned}
 V'_{2x}[\hat{S}] &= (U'_2[K_2])'[\hat{S}] + fU'_{2\lambda}[\hat{S}] + [U, V_2]'[\hat{S}] + [U_2, V]'[\hat{S}], \\
 W'_{2x}[\hat{K}] &= (U'_2[S_2])'[\hat{K}] + gU'_{2\lambda}[\hat{K}] + [U, W_2]'[\hat{K}] + [U_2, W]'[\hat{K}], \\
 U'_{2\lambda}[\hat{K}] &= V_{2x\lambda} - [U, V_2]_\lambda - [U_2, V]_\lambda - f_\lambda U_{2\lambda} - fU_{2\lambda\lambda}, \\
 U'_{2\lambda}[\hat{S}] &= W_{2x\lambda} - [U, W_2]_\lambda - [U_2, W]_\lambda - g_\lambda U_{2\lambda} - gU_{2\lambda\lambda}.
 \end{aligned} \tag{3.18}$$

Let us define

$$\begin{aligned}
 \Theta &= \hat{V}'[\hat{S}] - \hat{W}'[\hat{K}] + [\hat{V}, \hat{W}] \\
 &= \begin{pmatrix} Q & 0 & V'_1[\hat{S}] - W'_1[\hat{K}] + [V, W_1] + [V_1, W] \\ 0 & Q & V'_2[\hat{S}] - W'_2[\hat{K}] + [V, W_2] + [V_2, W] \\ 0 & 0 & Q \end{pmatrix},
 \end{aligned} \tag{3.19}$$

where $Q = V'[S] - W'[K] + [V, W]$, then we have

$$\begin{aligned}
 \Theta_x - [\hat{U}, \Theta] &= \hat{V}'_x[\hat{S}] - \hat{W}'_x[\hat{K}] + [\hat{V}, \hat{W}]_x \\
 &\quad - [\hat{U}, \hat{V}'[\hat{S}] - \hat{W}'[\hat{K}] + [\hat{V}, \hat{W}]] \\
 &\triangleq \begin{pmatrix} \Omega & 0 & \Omega_1 \\ 0 & \Omega & \Omega_2 \\ 0 & 0 & \Omega \end{pmatrix},
 \end{aligned} \tag{3.20}$$

where

$$\Omega = U'[[K, S]] + fW_{x\lambda} - f[U, W_\lambda] - gV_{x\lambda} + g[U, V_\lambda] + \llbracket f, g \rrbracket U_\lambda, \tag{3.21}$$

$$\begin{aligned}
 \Omega_1 &= V'_{1x}[\hat{S}] - W'_{1x}[\hat{K}] + [V, W_1]_x + [V_1, W]_x \\
 &\quad - [U, V_1[\hat{S}] - W'_1[\hat{K}] + [V, W_1] + [V_1, W]] \\
 &\quad - [U_1, V'[S] - W'[K] + [V, W]],
 \end{aligned} \tag{3.22}$$

and

$$\begin{aligned}
 \Omega_2 &= V'_{2x}[\hat{S}] - W'_{2x}[\hat{K}] + [V, W_2]_x + [V_2, W]_x \\
 &\quad - [U, V_2[\hat{S}] - W'_2[\hat{K}] + [V, W_2] + [V_2, W]] \\
 &\quad - [U_2, V'[S] - W'[K] + [V, W]].
 \end{aligned} \tag{3.23}$$

Making full use of (3.16) and (3.17), we can compute that

$$\begin{aligned}
 \Omega_1 &= (U'_1[K_1])'[\hat{S}] - (U'_1[S_1])'[\hat{K}] + fU'_{1\lambda}[\hat{S}] - gU'_{1\lambda}[\hat{K}] + [U, V_1]'[\hat{S}] + [U_1, V]'[\hat{S}] \\
 &\quad + [U'_1[K_1] + fU_{1\lambda} + [U, V_1] + [U_1, V], W] + [V_1, [U, W] + U'[S] + gU_\lambda] \\
 &\quad - [U, V'_1[\hat{S}] - W'_1[\hat{K}] + [V, W_1] + [V_1, W]] \\
 &\quad - [U_1, V'[S] - W'[K] + [V, W]] - [U, W_1]'[\hat{K}] - [U_1, W]'[\hat{K}] \\
 &\quad + [[U, V] + U'[K] + fU_\lambda, W_1] + [V, U'_1[S_1] + gU_{1\lambda} + [U, W_1] + [U_1, W]] \\
 &= U'_1[K'_1[S] - S'_1[K] + K'_1[S_1] - S'_1[K_1]] + fW_{1x\lambda} \\
 &\quad - f[U, W_{1\lambda}] - f[U_1, W_\lambda] - gV_{1x\lambda} + g[U, V_{1\lambda}] + g[U_1, V_\lambda] + \llbracket f, g \rrbracket U_{1\lambda}. \quad (3.24)
 \end{aligned}$$

Similarly, from (3.16) and (3.18), we obtain that

$$\begin{aligned}
 \Omega_2 &= U'_2[K'_2[S] - S'_2[K] + K'_2[S_2] - S'_2[K_2]] + fW_{2x\lambda} - f[U, W_{2\lambda}] \\
 &\quad - f[U_2, W_\lambda] - gV_{2x\lambda} + g[U, V_{2\lambda}] + g[U_2, V_\lambda] + \llbracket f, g \rrbracket U_{2\lambda}. \quad (3.25)
 \end{aligned}$$

On the other hand, according to (3.13) and (3.19), we have

$$\Theta = \begin{pmatrix} \tilde{Q} & 0 & \llbracket V_1, W_1 \rrbracket + fW_{1\lambda} - gV_{1\lambda} \\ 0 & \tilde{Q} & \llbracket V_2, W_2 \rrbracket + fW_{2\lambda} - gV_{2\lambda} \\ 0 & 0 & \tilde{Q} \end{pmatrix}, \quad (3.26)$$

where $\tilde{Q} = \llbracket V, W \rrbracket + fW_\lambda - gV_\lambda$. Thus, we obtain

$$\Theta_x - [\hat{U}, \Theta] \triangleq \begin{pmatrix} \tilde{\Omega} & 0 & \tilde{\Omega}_1 \\ 0 & \tilde{\Omega} & \tilde{\Omega}_2 \\ 0 & 0 & \tilde{\Omega} \end{pmatrix}, \quad (3.27)$$

where

$$\tilde{\Omega} = \llbracket V, W \rrbracket_x + fW_{x\lambda} - gV_{x\lambda} - [U, \llbracket V, W \rrbracket + fW_\lambda - gV_\lambda], \quad (3.28)$$

$$\begin{aligned}
 \tilde{\Omega}_1 &= \llbracket V_1, W_1 \rrbracket_x - [U, \llbracket V_1, W_1 \rrbracket] - [U_1, \llbracket V, W \rrbracket] + fW_{1x\lambda} - gV_{1x\lambda} \\
 &\quad - f[U, W_{1\lambda}] + g[U, V_{1\lambda}] - f[U_1, W_\lambda] + g[U_1, V_\lambda], \quad (3.29)
 \end{aligned}$$

and

$$\begin{aligned}
 \tilde{\Omega}_2 &= \llbracket V_2, W_2 \rrbracket_x - [U, \llbracket V_2, W_2 \rrbracket] - [U_2, \llbracket V, W \rrbracket] + fW_{2x\lambda} - gV_{2x\lambda} \\
 &\quad - f[U, W_{2\lambda}] + g[U, V_{2\lambda}] - f[U_2, W_\lambda] + g[U_2, V_\lambda]. \quad (3.30)
 \end{aligned}$$

Comparing Ω , Ω_1 , Ω_2 with $\tilde{\Omega}$, $\tilde{\Omega}_1$, $\tilde{\Omega}_2$, we immediately obtain (3.15). Thus, (3.14) holds. This means that $(\llbracket \hat{V}, \hat{W} \rrbracket, [\hat{K}, \hat{S}], \llbracket f, g \rrbracket)$ belongs to $P(\hat{U})$. The proof is completed. $\square$

Remark. The first two equations in (3.15) is exactly the result presented in Refs. 13 and 29. The whole equality (3.15) is an application but also a generalization of the result in Refs. 13 and 29.

It follows from the above theorem that if two enlarged evolution equations $\hat{u}_t = \hat{K}, \hat{u}_t = \hat{S}, (\hat{K}, \hat{S} \in \mathcal{B}^{q+q_1+q_2})$ are the compatibility conditions of the spectral problems

$$\begin{aligned}\hat{\varphi}_x &= \hat{U}\hat{\varphi}, & \hat{\varphi}_t &= \hat{V}\hat{\varphi}, & \hat{V} &\in \tilde{\mathcal{V}}_{(0)}^r, & \lambda_t &= p\lambda^m, \\ \hat{\varphi}_x &= \hat{U}\hat{\varphi}, & \hat{\varphi}_t &= \hat{W}\hat{\varphi}, & \hat{W} &\in \tilde{\mathcal{V}}_{(0)}^r, & \lambda_t &= q\lambda^n,\end{aligned}$$

where p, q are constants and $m, n \geq 0$, respectively, then the product equation $\hat{u}_t = [\hat{K}, \hat{S}]$ is the compatibility condition of the following spectral problems

$$\hat{\varphi}_x = \hat{U}\hat{\varphi}, \quad \hat{\varphi}_t = [\hat{V}, \hat{W}]\hat{\varphi}, \quad \lambda_t = ab(m-n)\lambda^{m+n-1},$$

where

$$\begin{aligned}[\hat{V}, \hat{W}] &= \hat{V}'[\hat{S}] - \hat{W}'[\hat{K}] + [\hat{V}, \hat{W}] + g\hat{V}_\lambda - f\hat{W}_\lambda \\ &= \begin{pmatrix} [V, W] & 0 & [V_1, W_1] \\ 0 & [V, W] & [V_2, W_2] \\ 0 & 0 & [V, W] \end{pmatrix}.\end{aligned}$$

This will give us an approach for generating τ -symmetry algebras of coupled integrable couplings.

4. Application

In this section, we shall illustrate our construction process by a concrete example in the AKNS case and establish the corresponding τ -symmetry algebra.

4.1. The isospectral and nonisospectral AKNS hierarchies

The AKNS spectral problem is given by

$$\varphi_x = U\varphi, \quad U = U(u, \lambda) = \begin{pmatrix} -\lambda & u_1 \\ u_2 & \lambda \end{pmatrix}, \quad u = \begin{pmatrix} u_1 \\ u_2 \end{pmatrix}, \quad (4.1)$$

where $u_i = u_i(x, t)$, $i = 1, 2$, are two dependent variables.

Suppose that the associated temporal spectral problem is as follows:

$$\varphi_t = V\varphi, \quad V = V(u, \lambda) = \begin{pmatrix} a & b \\ c & -a \end{pmatrix} \in \tilde{\mathcal{V}}_{(0)}^2, \quad (4.2)$$

where $a = \sum_{j=0}^m a_j \lambda^{m-j}$, $b = \sum_{j=0}^m b_j \lambda^{m-j}$ and $c = \sum_{j=0}^m c_j \lambda^{m-j}$. Clearly, the compatibility condition $U_t - V_x + [U, V] = 0$ in this case gives equivalently

$$u_{1t} = b_x + 2\lambda b + 2u_1\partial^{-1}(u_1c - u_2b) - 2u_1\lambda_t x, \quad (4.3)$$

$$u_{2t} = c_x - 2\lambda c - 2u_2\partial^{-1}(u_1c - u_2b) + 2u_2\lambda_t x. \quad (4.4)$$

For the isospectral case ($\lambda_t = 0$), if we choose

$$b_0 = c_0 = 0, \quad b_1 = u_1, \quad c_1 = u_2, \quad (4.5)$$

and set integration constants to be zero, then the corresponding isospectral AKNS hierarchy reads (see Ref. 7):

$$u_t = K_m = \begin{pmatrix} -2b_{m+1} \\ 2c_{m+1} \end{pmatrix} = \Phi(u)^m K_0, \quad K_0 = \begin{pmatrix} -2u_1 \\ 2u_2 \end{pmatrix}, \quad m \geq 0, \quad (4.6)$$

where the hereditary operator $\Phi(u)$ is determined by

$$\Phi(u) = \begin{pmatrix} -\frac{1}{2}\partial + u_1\partial^{-1}u_2 & u_1\partial^{-1}u_1 \\ -u_2\partial^{-1}u_2 & \frac{1}{2}\partial - u_2\partial^{-1}u_1 \end{pmatrix}. \quad (4.7)$$

For the nonisospectral ($\lambda_t = \lambda^{m+1}$) case, if we choose

$$b_0 = u_1x, \quad c_0 = u_2x, \quad b_1 = -\frac{1}{2}(u_1x)_x, \quad c_1 = \frac{1}{2}(u_2x)_x, \quad (4.8)$$

then we can arrive at the nonisospectral AKNS hierarchy (see Ref. 7):

$$u_t = S_m = \begin{pmatrix} -2b_{m+1} \\ 2c_{m+1} \end{pmatrix} = \Phi(u)^m S_0, \quad S_0 = \begin{pmatrix} (u_1x)_x \\ (u_2x)_x \end{pmatrix}, \quad m \geq 0. \quad (4.9)$$

4.2. *Coupled integrable couplings of the isospectral and nonisospectral AKNS hierarchies*

Following Refs. 25 and 29, we know that each of the isospectral and nonisospectral AKNS hierarchies, (4.6) and (4.9), can have two hierarchies of integrable couplings:

$$\bar{K}_{1m} = \begin{pmatrix} K_m \\ K_{1m} \end{pmatrix}, \quad \bar{S}_{1m} = \begin{pmatrix} S_m \\ S_{1m} \end{pmatrix} \quad (4.10)$$

and

$$\bar{K}_{2m} = \begin{pmatrix} K_m \\ K_{2m} \end{pmatrix}, \quad \bar{S}_{2m} = \begin{pmatrix} S_m \\ S_{2m} \end{pmatrix}, \quad (4.11)$$

with the corresponding zero curvature equation being given by

$$\bar{U}_{it} - \bar{V}_{ix} + [\bar{U}_i, \bar{V}_i] = 0, \quad i = 1, 2, \quad (4.12)$$

where

$$\bar{U}_i = \begin{pmatrix} U & U_i \\ 0 & U \end{pmatrix}, \quad \bar{V}_i = \begin{pmatrix} V & V_i \\ 0 & V \end{pmatrix}, \quad i = 1, 2.$$

Now we define enlarged AKNS spectral problem as follows:³¹

$$\begin{aligned}\hat{\varphi}_x &= \hat{U}\hat{\varphi}, \quad \hat{U} = \hat{U}(\hat{u}, \lambda) = \begin{pmatrix} U & 0 & U_1 \\ 0 & U & U_2 \\ 0 & 0 & U \end{pmatrix}, \\ U_1 &= U_1(v) = \begin{pmatrix} 0 & v_1 \\ v_2 & 0 \end{pmatrix}, \\ U_2 &= U_2(w) = \begin{pmatrix} -1 & w_1 \\ w_2 & 1 \end{pmatrix},\end{aligned}\tag{4.13}$$

where $v_i = v_i(x, t)$, $i = 1, 2$, $w_i = w_i(x, t)$, $i = 1, 2$ are new dependent variables and

$$\hat{u} = (u^T, v^T, w^T)^T = (u_1, u_2, v_1, v_2, w_1, w_2)^T.$$

The associated enlarged temporal spectral problem is assumed to be

$$\begin{aligned}\hat{\varphi}_t &= \hat{V}\hat{\varphi}, \quad \hat{V} = \hat{V}(\hat{u}, \lambda) = \begin{pmatrix} V & 0 & V_1 \\ 0 & V & V_2 \\ 0 & 0 & V \end{pmatrix} \in \tilde{\mathcal{V}}_{(0)}^6, \\ V_1 &= V_1(u, v) = \begin{pmatrix} e_1 & f_1 \\ g_1 & -e_1 \end{pmatrix}, \\ V_2 &= V_2(u, w) = \begin{pmatrix} e_2 & f_2 \\ g_2 & -e_2 \end{pmatrix}.\end{aligned}\tag{4.14}$$

Then the corresponding enlarged zero curvature equation becomes

$$\begin{aligned}U_t - V_x + [U, V] &= 0, \\ U_{1t} - V_{1x} + [U, V_1] + [U_1, V] &= 0, \\ U_{2t} - V_{2x} + [U, V_2] + [U_2, V] &= 0,\end{aligned}\tag{4.15}$$

which are equivalent to

$$\begin{aligned}u_{1t} &= b_x + 2\lambda b + 2u_1\partial^{-1}(u_1c - u_2b) - 2u_1\lambda_tx, \\ u_{2t} &= c_x - 2\lambda c - 2u_2\partial^{-1}(u_1c - u_2b) + 2u_2\lambda_tx, \\ v_{1t} &= f_{1x} + 2\lambda f_1 + 2u_1e_1 + 2b_1[-\lambda_tx + \partial^{-1}(u_1c - u_2b)], \\ v_{2t} &= g_{1x} - 2u_2e_1 - 2\lambda g_1 - 2v_2[-\lambda_tx + \partial^{-1}(u_1c - u_2b)], \\ w_{1t} &= f_{2x} + 2\lambda f_2 + 2u_1e_2 + 2w_3b + 2w_1[-\lambda_tx + \partial^{-1}(u_1c - u_2b)], \\ w_{2t} &= g_{2x} - 2\lambda g_2 - 2u_2e_2 - 2w_3c - 2w_2[-\lambda_tx + \partial^{-1}(u_1c - u_2b)].\end{aligned}\tag{4.16}$$

Set

$$e_i = \sum_{j=0}^m e_{ij}\lambda^{m-j}, \quad f_i = \sum_{j=0}^m f_{ij}\lambda^{m-j}, \quad g_i = \sum_{j=0}^m g_{ij}\lambda^{m-j}, \quad i = 1, 2, \tag{4.17}$$

and then, we can derive the isospectral and nonisospectral coupled integrable couplings for the isospectral and nonisospectral AKNS hierarchies, respectively.

(i) For the isospectral case ($\lambda_t = 0$), we choose

$$\begin{aligned} f_{10} = g_{10} = 0, \quad f_{11} = u_1 + v_1, \quad g_{11} = u_2 + v_2, \\ f_{20} = g_{20} = 0, \quad f_{21} = u_1 + w_1, \quad g_{21} = u_2 + w_2, \end{aligned} \tag{4.18}$$

then we obtain the isospectral coupled integrable couplings of the isospectral AKNS hierarchy:

$$\begin{aligned} \hat{u}_t = \begin{pmatrix} u \\ v \\ w \end{pmatrix}_t = \hat{K}_m = \begin{pmatrix} K_m \\ K_{1m} \\ K_{2m} \end{pmatrix} \\ = \begin{pmatrix} -2b_{m+1} \\ 2c_{m+1} \\ -2f_{1\ m+1} \\ 2g_{1\ m+1} \\ -2f_{2\ m+1} \\ 2g_{2\ m+1} \end{pmatrix} = \hat{\Phi}(\hat{u})^m \hat{K}_0, \quad m \geq 0. \end{aligned} \tag{4.19}$$

Here the hereditary operator $\hat{\Phi}(\hat{u})$ reads

$$\hat{\Phi}(\hat{u}) = \begin{pmatrix} \Phi(u) & 0 & 0 \\ \Phi_1(u, v) & \Phi(u) & 0 \\ \Phi_2(u, w) & 0 & \Phi(u) \end{pmatrix}, \tag{4.20}$$

with Φ_1 and Φ_2 being given by

$$\Phi_1(u, v) = \begin{pmatrix} v_1 \partial^{-1} u_2 + u_1 \partial^{-1} v_2 & v_1 \partial^{-1} u_1 + u_1 \partial^{-1} v_1 \\ -v_2 \partial^{-1} u_2 - u_2 \partial^{-1} v_2 & -v_2 \partial^{-1} u_1 - u_2 \partial^{-1} v_1 \end{pmatrix}, \tag{4.21}$$

and

$$\Phi_2(u, w) = \begin{pmatrix} w_1 \partial^{-1} u_2 + u_1 \partial^{-1} w_2 - 1 & w_1 \partial^{-1} u_1 + u_1 \partial^{-1} w_1 \\ -w_2 \partial^{-1} u_2 - u_2 \partial^{-1} w_2 & -w_2 \partial^{-1} u_1 - u_2 \partial^{-1} w_1 - 1 \end{pmatrix}, \tag{4.22}$$

and the initial coupled vector field is

$$\hat{K}_0 = \begin{pmatrix} K_0 \\ K_{10} \\ K_{20} \end{pmatrix} = \begin{pmatrix} -2u_1 \\ 2u_2 \\ -2u_1 - 2v_1 \\ 2u_2 + 2v_2 \\ -2u_1 - 2w_1 \\ 2u_2 + 2w_2 \end{pmatrix}. \tag{4.23}$$

(ii) For the nonisospectral case ($\lambda_t = \lambda^{m+1}$), we choose

$$\begin{aligned} f_{10} &= v_1 x, & g_{10} &= v_2 x, \\ f_{11} &= -\frac{1}{2}(v_1 x)_x, & g_{11} &= \frac{1}{2}(v_2 x)_x, \\ f_{20} &= w_1 x, & g_{20} &= w_2 x, \\ f_{21} &= -\frac{1}{2}(w_1 x)_x - u_1 x, & g_{21} &= \frac{1}{2}(w_2 x)_x - u_2 x, \end{aligned} \quad (4.24)$$

then the nonisospectral coupled integrable couplings of the nonisospectral AKNS hierarchy reads

$$\hat{u}_t = \hat{S}_m = \begin{pmatrix} S_m \\ S_{1m} \\ S_{2m} \end{pmatrix} = \begin{pmatrix} -2b_{m+1} \\ 2c_{m+1} \\ -2f_{1m+1} \\ 2g_{1m+1} \\ -2f_{2m+1} \\ 2g_{2m+1} \end{pmatrix} = \hat{\Phi}(\hat{u})^m \hat{S}_0, \quad m \geq 0, \quad (4.25)$$

where the nonisospectral ($\lambda_t = \lambda$) initial coupled vector field is

$$\hat{S}_0 = \begin{pmatrix} S_0 \\ S_{10} \\ S_{20} \end{pmatrix} = \begin{pmatrix} (u_1 x)_x \\ (u_2 x)_x \\ (v_1 x)_x \\ (v_2 x)_x \\ (w_1 x)_x + 2u_1 x \\ (w_2 x)_x - 2u_2 x \end{pmatrix}, \quad (4.26)$$

and $\hat{\Phi}(\hat{u})$ is defined as in (4.20).

Let us next consider how to compute the corresponding τ -symmetry algebra for the coupled integrable coupling systems generated above. As in Ref. 13, we first make the following computation at $\hat{u} = 0$

$$\begin{aligned} \hat{K}_m|_{\hat{u}=0} &= \left(\begin{pmatrix} K_m \\ K_{1m} \\ K_{2m} \end{pmatrix} \right) \bigg|_{\hat{u}=0} = \hat{\Phi}^m \hat{K}_0|_{\hat{u}=0} = 0, \\ \hat{S}_n|_{\hat{u}=0} &= \left(\begin{pmatrix} S_n \\ S_{1n} \\ S_{2n} \end{pmatrix} \right) \bigg|_{\hat{u}=0} = \hat{\Phi}^n \hat{S}_0|_{\hat{u}=0} = 0, \end{aligned} \quad (4.27)$$

where $m, n \geq 0$. We denote by $\hat{V}_m$ and $\hat{W}_n$ the Lax operators corresponding to the vector fields $\hat{K}_m$ and $\hat{S}_n$, respectively, we compute that

$$\begin{aligned}\hat{V}_m|_{\hat{u}=0} &= \left(\begin{array}{ccc} V_m & 0 & V_{1m} \\ 0 & V_m & V_{2m} \\ 0 & 0 & V_m \end{array} \right) \bigg|_{\hat{u}=0} = \begin{pmatrix} -1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 1 & 0 & 0 & 0 & 1 \\ 0 & 0 & -1 & 0 & -1 & 0 \\ 0 & 0 & 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 \end{pmatrix} \lambda^m, \\ \hat{V}_{m\lambda}|_{\hat{u}=0} &= (\hat{V}_m|_{\hat{u}=0})_\lambda = m \begin{pmatrix} -1 & 0 & 0 & 0 & -1 & 0 \\ 0 & 1 & 0 & 0 & 0 & 1 \\ 0 & 0 & -1 & 0 & -1 & 0 \\ 0 & 0 & 0 & 1 & 0 & 1 \\ 0 & 0 & 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 \end{pmatrix} \lambda^{m-1}, \\ \hat{W}_n|_{\hat{u}=0} &= \left(\begin{array}{ccc} W_n & 0 & W_{1n} \\ 0 & W_n & W_{2n} \\ 0 & 0 & W_n \end{array} \right) \bigg|_{\hat{u}=0} = \begin{pmatrix} -\lambda x & 0 & 0 & 0 & 0 & 0 \\ 0 & \lambda x & 0 & 0 & 0 & 0 \\ 0 & 0 & -\lambda x & 0 & 0 & 0 \\ 0 & 0 & 0 & \lambda x & 0 & 0 \\ 0 & 0 & 0 & 0 & -\lambda x & 0 \\ 0 & 0 & 0 & 0 & 0 & \lambda x \end{pmatrix} \lambda^n, \\ \hat{W}_{n\lambda}|_{\hat{u}=0} &= (\hat{W}_n|_{\hat{u}=0})_\lambda = (n+1) \begin{pmatrix} -\lambda x & 0 & 0 & 0 & 0 & 0 \\ 0 & \lambda x & 0 & 0 & 0 & 0 \\ 0 & 0 & -\lambda x & 0 & 0 & 0 \\ 0 & 0 & 0 & \lambda x & 0 & 0 \\ 0 & 0 & 0 & 0 & -\lambda x & 0 \\ 0 & 0 & 0 & 0 & 0 & \lambda x \end{pmatrix} \lambda^{n-1},\end{aligned}$$

where $m, n \geq 0$. Now we can find by the definition (3.12) of the product of Lax operators that

$$\begin{aligned}\llbracket \hat{V}_m, \hat{V}_n \rrbracket|_{\hat{u}=0} &= 0, & m, n \geq 0, \\ \llbracket \hat{V}_m, \hat{W}_n \rrbracket|_{\hat{u}=0} &= m \hat{V}_{m+n}|_{\hat{u}=0}, & m, n \geq 0, \\ \llbracket \hat{W}_m, \hat{W}_n \rrbracket|_{\hat{u}=0} &= (m-n) \hat{W}_{m+n}|_{\hat{u}=0}, & m, n \geq 0.\end{aligned}\tag{4.28}$$

Because $\llbracket \hat{V}_m, \hat{V}_n \rrbracket$, $\llbracket \hat{V}_m, \hat{W}_n \rrbracket - m \hat{V}_{m+n}$, $\llbracket \hat{W}_m, \hat{W}_n \rrbracket - (m-n) \hat{W}_{m+n}$, $m, n \geq 0$, are all isospectral ($\lambda_t = 0$) Lax operators belonging to $\tilde{\mathcal{V}}_{(0)}^6$ by Theorem 3.2, based

upon (4.28), we obtain a Lax operator algebra by the uniqueness property of the enlarged spectral problem (4.13):

$$\begin{aligned} [\hat{V}_m, \hat{V}_n] &= 0, & m, n \geq 0, \\ [\hat{V}_m, \hat{W}_n] &= m\hat{V}_{m+n}, & m, n \geq 0, \\ [\hat{W}_m, \hat{W}_n] &= (m-n)\hat{W}_{m+n}, & m, n \geq 0. \end{aligned} \quad (4.29)$$

Further, due to the injective property of $\hat{U}'$, we finally obtain a vector field algebra for the coupled integrable couplings of the isospectral and nonisospectral AKNS hierarchies:

$$\begin{aligned} [\hat{K}_m, \hat{K}_n] &= 0, & m, n \geq 0, \\ [\hat{K}_m, \hat{S}_n] &= m\hat{K}_{m+n}, & m, n \geq 0, \\ [\hat{S}_m, \hat{S}_n] &= (m-n)\hat{S}_{m+n}, & m, n \geq 0, \end{aligned} \quad (4.30)$$

which implies that $\hat{S}_n, n \geq 0$, are all master symmetries of each equation $\hat{u}_t = \hat{K}_l$, $l \geq 0$ in the isospectral hierarchy (4.19), and the symmetries

$$\hat{K}_m, \quad m \geq 0, \quad \text{and} \quad \hat{\tau}_n^l = t[\hat{K}_l, \hat{S}_n] + \hat{S}_n = tl\hat{K}_{n+l} + \hat{S}_n, \quad n, l \geq 0, \quad (4.31)$$

constitute an infinite-dimensional τ -symmetry algebra, whose commutator satisfies

$$\begin{aligned} [\hat{K}_m, \hat{K}_n] &= 0, & m, n \geq 0, \\ [\hat{K}_m, \hat{\tau}_n^l] &= m\hat{K}_{m+n}, & m, n, l \geq 0, \\ [\hat{\tau}_m^l, \hat{\tau}_n^l] &= (m-n)\hat{\tau}_{m+n}^l, & m, n, l \geq 0. \end{aligned} \quad (4.32)$$

This is a union of infinitely many τ -symmetry algebras, offering a supplement to the structure of τ -algebras introduced in Ref. 9. However, it is still an open question to us if the variational identities³⁰ can generate Hamiltonian structures for the isospectral coupled AKNS hierarchy (4.19).

Acknowledgments

The work was supported in part by the grants from the Natural Science Foundation of Shanghai (No. 09ZR1412800) and the Innovation Program of Shanghai Municipal Education Commission (No. 10ZZ131), the Established Researcher Grant of the University of South Florida, and the CAS faculty development grant of the University of South Florida.

References

1. B. Fuchssteiner, *Prog. Theor. Phys.* **70**, 1508 (1983).
2. B. Fuchssteiner and A. S. Fokas, *Physica D* **4**, 47 (1981).
3. Y. Cheng and Y. S. Li, *Chin. Sci. Bull.* **36**, 1428 (1991).
4. W. X. Ma, *Chin. Sci. Bull.* **36**, 1325 (1991).
5. Y. Cheng, W. Strampp and Y. J. Zhang, *Phys. Lett. A* **182**, 71 (1993).

6. Y. S. Li and Y. Cheng, *Sci. Sinica Ser. A* **31**, 769 (1988).
7. W. X. Ma, *J. Math. Phys.* **33**, 2464 (1992).
8. W. X. Ma, *J. Phys. A: Math. Gen.* **25**, L719 (1992).
9. W. X. Ma, *J. Phys. A: Math. Gen.* **25**, 5329 (1992).
10. W. X. Ma and B. Fuchssteiner, *Chaos, Solitons Fractals* **7**, 1227 (1996).
11. D. J. Zhang *et al.*, *Phys. Lett. A* **359**, 458 (2006).
12. W. X. Ma, *J. Phys. A: Math. Gen.* **23**, 2707 (1990).
13. W. X. Ma, *J. Phys. A: Math. Gen.* **26**, 2573 (1993).
14. W. X. Ma and B. Fuchssteiner, *J. Math. Phys.* **40**, 2400 (1999).
15. W. X. Ma, *Phys. Lett. A* **179**, 179 (1993).
16. Z. J. Qiao, *Phys. Lett. A* **195**, 319 (1994).
17. Z. J. Qiao, *Phys. Lett. A* **206**, 347 (1995).
18. S. Y. Lou, *J. Phys. A: Math. Gen.* **26**, 4387 (1993).
19. S. Y. Lou, *J. Math. Phys.* **35**, 2336 (1994).
20. J. S. He *et al.*, *Lett. Math. Phys.* **81**, 119 (2007).
21. L. A. Dickey, *Mod. Phys. Lett. A* **8**, 1259 (1993).
22. W. X. Ma, *Methods Appl. Anal.* **7**, 21 (2000).
23. W. X. Ma, X. X. Xu and Y. F. Zhang, *Phys. Lett. A* **351**, 125 (2006).
24. W. X. Ma, X. X. Xu and Y. F. Zhang, *J. Math. Phys.* **47**, 053501 (2006).
25. W. X. Ma and M. Chen, *J. Phys. A: Math. Gen.* **39**, 10787 (2006).
26. T. C. Xia and E. G. Fan, *J. Math. Phys.* **46**, 043510 (2005).
27. E. G. Fan and Y. F. Zhang, *Chaos, Solitons Fractals* **25**, 425 (2005).
28. Y. F. Zhang and E. G. Fan, *Phys. Lett. A* **365**, 89 (2007).
29. L. Luo, W. X. Ma and E. G. Fan, *Int. J. Mod. Phys. A* **23**, 1309 (2008).
30. W. X. Ma, Variational identities and applications to Hamiltonian structures of soliton equations, *Nonlin. Anal. Theory, Meth. Appl.* **71**, 1716 (2009).
31. W. X. Ma and L. Gao, Coupling integrable couplings, *Mod. Phys. Lett. B* **23**, 1847 (2009).